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1.b.it depends on the risk for the system being tested 

2.d. all of the above

3.c. validation

4.d.system testing 

5.d.all of the above

6.a. verification 

7.b. end user

8. C.measuring the lock

9.a. defect 

10.c. unit testing

Q2Answer

Black Box Testing=>

Black Box Testing: Testing an Application Under Test  without referencing the internal structure is called the black box testing. Testing will be done by visualizing the application as a black box.

It is a method of software testing that examines the functionality of an application without looking to its internal structure or working.

 The method in whichinternal structure of the Productis not known to the tester.

Explanation:-

Black box testing is a testing approach that is used to test the functionality of the AUT based on the specifications/SRS without any knowledge of the technology used to implement the application under test.

In the black-box testing, major testing will be around possible inputs and expected outputs. A tester should be able to choose the valid test data carefully. In simple terms, a tester can only see the actions of the AUT. The tester need not know how those actions are performed.

Example: A simple example of black-box testing is a TV (Television). As a user, we watch the TV but we don’t need the knowledge of how the TV is built and how it works, etc. We just need to know how to operate the remote control to switch on, switch off, change channels, increase/decrease volume, etc.

In this example,

The TV is your AUT (Application Under Test).

The remote control is the User Interface (UI) that you use to test.

You just need to know how to use the application.

White-box testing:

White Box Testing: Testing an application with reference to the internal structure of the

software component is called white box testing.

The method in which internal structure of the product is known to developer.

White-box test technique: A Procedure to derive and/or select test cases based on an analysis of the internal structure of a component or system.

Synonyms: Clear-box testing, Code-based testing, Glass-box testing, Logic-coverage testing, Logic-driven testing, Structural testing, Structure-based testing, etc.

Explanation:-

White box testing is a test approach that is used to test the implementation part of an application under test. To perform this testing, the tester/possibly the developer should know the internal structure of the application and how it works.

Example: A Car mechanic should know the internal structure of the car engine to repair it.

In this example,

CAR is the AUT (Application Under Test).

The user is the black box tester.

The mechanic is the white box tester.

Q4:Answer:->
Z specification

The Z notation is a formal specification language used for describing and modelling computing systems. It is targeted at the clear specification of computer programs and computer-based systems in general.

Pronounced "zed" (English pronunciation

of letter'Z)

Not a programming language!

Describes the behavior of systems in the

language of modern mathematics

Predominant foundation of modern mathematics,

used in Z, is Zermelo-Fraenkel set theory

Z is based on the standard mathematical notation used in axiomatic set theory, lambda calculus, and first-order predicate logic. All expressions in Z notation are typed, thereby avoiding some of the paradoxes of naive set theory. Z contains a standardized catalogue (called the mathematical toolkit) of commonly used mathematical functions and predicates, defined using Z itself.

Although Z notation (just like the APL language, long before it) uses many non-ASCII symbols, the specification includes suggestions for rendering the Z notation symbols in ASCII and in LaTeX. There are also Unicode encodings for all standard Z symbols.

Example
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Q3ANSWER.

CYCLOMATIC  complexity of given code:

In program fragments

complexity=

statements +1)

cyclomatic

conditional

(no.

of

So for this program...2 "if condition" =2

and 1 "while condition" which have AND

conjuction means again comparisons = 1

Therefore 3-1 4 is the cyclomatic

complexity

In program fragments complexity=statements +1) cyclomatic conditional (no of So for this program...2 "if condition" =2

and 1 "while condition" which have AND

conjuction means again comparisons = 1

Therefore 3-1 4 is the cyclomatic

complexity
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